EARAZROREIERT — 2 N—XBISY —F 2021568250 (£) 7EMAE1H

AR o~ 44551 B HIR3®LE

ECEE Ry

[A~&£] 1 7% :700,000 @ ~ 23&:210,000 @ 3% :112,000  ~ 4 3#&:56,000 5 7 :42,000 M

& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
N [i[mE} 129, -1-1- . — IR (£8)
2l 7 NIt o6 aa 1(2_9)6 1-1-1-1 [ 39.0 1 :1_610) e i1
R:v=Z24—-3=224— BNYTHIIRCX T2 RE
- = i 4 | AER—ER 1:29.9 3-3-3-3 [38.6| — 2 453 | FIIES (EH)
2(1]1|¥771x 56.0 (1 1/2) (4 |BEZ
RiFATA T v— B a0—X HT A
A 44 =i 1:30.6 2-2-2-2 | 39.7| — 5 496 | WUEEA (£R)
3078 b—E>TFr—»LA 56. ) () | REEFT
Libh=—trva—-4> B:I77AMHT— BREHM IXF1T77—L4
. # 6 | RAZYF 1:30.8 6-7-4-4 |38.8| — 6 449 | REAE (£EH)
4PN 4 BT F V> %53.0 ) (0) | (P J PN
L:YZRH—3IZ24— B:¥3vI4(A7AV ellikse]
AlllEF :30. -9-10- . — FURF (&H)
55|5| THFLI-2 o6 2 1(730t>9 9-9-10-10 | 38.1 4 ao;) i i
AN—KRZN> B:v¥x/ 3T B
= — gt \TaE :31. -10-9 . = FILEE (E8)
N - BERET o9 Pl 1(311)1 10-10-9-8 | 38.4 10 g;) ez B
RV Ry THY BFUEVES N T — 5
TS o7 | RIS 1:31.1 4-5-7-5 |39.2| — 8 500 | BAREE (£H)
TR 2| TN~ 5.0 (NF) © | (@ 9PNz
LAY auR—5— B:AX/TyF— HEFHTT— L
= 4 5 | EBERE 1:31.3 8-8-8-9 |38.7| — 7 452 | REM (£H)
8189 NTATT AV — 56.0 (1 1/4) (-3) (#) H. 13a—-KRL—-3>
R:vO7x B:¥aA44T754 RN )
N t 5 | B 1:31.3 5-4-6-6 |39.3| — 9 453 | LIERE (1£E)
9 NEPE A % 54.0 (F4%) (-a) 15 =mg
R:TIVYAZAILR B:7A455H— BT 7L
A S A £ 6 | BERD 1:31.8 7-6-5-7 |39.9| — 3 481 | ABEX (I£R)
10/8[10| ¥~ 7F=>T %7 X 2 1/2) s | REER
¥ JARZ N B:7Rvs¥7OrY pu e
® 1—F—@EBIERL
1T=7r= 7,8,1,2,6,4,10,9,5,3
20—F— 7,8,1,6,2,10,4,9,5,3
Ja=7= 7,8,1,4,10,6,2,9,3,5
43—+ — 7,8,1,4,2,6,10,3,9,5
[ N5
B OB 7 1900 | | 71 K 1-7 130 | | # & 1-7 140 | | 3ER 1-7-8 7100
B B 7 100M4 7-8 390M B = 1-7 210 EE 7-1-8 2,060/
1 110 1-8 490M B H 7-1 380M
8 240H

ARICOVWTRDTEEERROODE. TR LIV,




